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[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes

each sentence. Then mark the correct cﬁai on your answer sheet.

= T

I- Computers are used to store and latento —-—-— information efficiently.
1) absorb 2) fabricate 3) proceed 4) retrieve

2-  Birds ====--=-less accurately when the earth’s magnetic field is disturbed.
1) probe 2) accompany 3) navigate 4) ponder

3-  The story of the scientist’s life is in this new biography.
1) recounted 2 reconciled 3) revoked 4) revolved

4- It has been --—--—- that dinosaurs became extinet because the Earth’s elimate changed.
1) fostered 2) speculated 3) founded 4) detested
War and illiteracy are two of the greatest -—---—---- to human progress.
1) phenomena 2) resolutions 3) impediments 4) divergences

6- It is hard to believe that hunger is a problem despite the of the country.
1) advocacy 2) approximation 3) inspiration 4) prosperity

7- None of the journalist’s children showed the slightest -———-- to follow their father into
journalism.
1) inclination 2) composition 3) impression 4) extension

8-  This society enjoys cultural - despite the fact that it consists of different ethnic
backgrounds.
1) erection 2) homogeneity 3) demonstration 4) conviction

9-  When people saw pictures of killed soldiers on TV, there was a —-—— reaction against
the war.
1) primitive 2) comprehensive 3) preoccupied 4) spontaneous

10- The philosopher’s explanation of the theory was rather ---——-—, i.e. difficult to
understand.
1) opaque 2) distinctive i) inevitable 4) immense

— —_— S —
PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.
A scholarship is a type of financial award given to college students in recognition of past or

potential academic achievement. The terms “scholarship™ and “fellowship” are sometimes
(11) ==mmme . Generally, however, a scholarship is awarded to undergraduates (12) -—------ a
fellowship i§ given for graduate study. Currently, most scholarship programs are related to
financial need, (13) --------- not necessarily a prerequisite, The College Scholarship Service, an
organization sponsored by the College Entrance Examination Board, has devised a financial aid
form (14) --------- used by over 1,600 colleges and universities in a cooperative effort to achieve
some uniformity in assessing need. A detailed report on (15) -=------ - annual income,
investments, debts, and dependents is submitted to the College Scholarship Service which
duplicates copies and sends them to the colleges as requested, along with a confidential analysis
of need and a recommended award.

11- 1) interchangeable use 2) interchangeably use
F)used interchangeably 4) used interchangeable

12- 1IYyasif 2) as long as 3) while 4) however

13- 1) although need is 2) although need does
3) so that need docs 4) so that need is

14- 1) itis. 2) what 1f has been 3) it has been 4 that is

15- 1) factors 23 such factors as 3) such as factors -1% factors that are
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| Part C. Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3) or
(4). Then mark it on your answer sheet.

PASSAGE 1:

Operational Research is the science of planning and executing an operation to make the most
economical use of the resources available. The operation can jbe as simple as making a cup of
coffee or as complicated as scheduling the movements of a fleet of oil tankers around the world.
It can be a project which will be undertaken only once, like the construction of a particular
building, or a regularly repeated activity like the weekly ordering of stock in a shop. In each
case the manager has to organise labour, equipment and materials in order to achieve a certain
objective, usually the maximization of profit. Operational Research teehniques attempt to
model such real-world systems, either on paper or in a computer, so that their performance can
be optimised with respect to an appropriate set of criteria.

The history of operational Research is not a long one although its origins can be traced back
to the Industrial Revolution. Most of the ideas were not develeped until the second World War
when the British and American Armed Forces found themselves mounting large scale
operations, many thousands of miles from their home bases. [t because necessary to study the
logistics of moving quantities of men, weaponry, vehicles and supplies over long distances in a
coordinated fashion. Even in the fighting itself'a mathematical approach was used to find the
optimum military strategies.

The passage does not imply that the manager:

1) likes the construction of a particular building

2) tries to model real-world systems

3) organizes labour, equipment and materials.

4) uses a set of criteria.

According to the passage, the word “optimum™ means:

1) maximinisation 2} minimisation 3) maximization 4) most favorable
The passage implies that:

1) Operational Research is like the construction of a building
2} Operational Research developed in second World War

3) Operational Research related.only to military activities

4) Operational Research always maximizing the profit
According to the passage, “Scheduling” is:

1) planning for raw material 2) planning for manpower
3) planning for equipment 4),planning for time
What is the best title for this passage?

1) Optimization Techniques 2) Operational Research
3) Industrial Revelution 4) Military strategies

O.R. means that:

1) it.is as simple as drinking a glass of water or as complicated as doing a havey duty.
2) scheduing planning, and solving a real problems.

Iy although itis very simple in some cases, but it is very complicated in others.

4) is some kind of problem solving.
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PASSAGE 2:

With the increasing use of computers in computer-aided design and computer-aided
manufacturing (CAD/CAM), the opportunity arises to design for producibility, thus
assuring ideal methods, and also to develop work standards as part of the CADICAM
process. However, more research and development must be carried in order to identify
and store the necessary information in the computer, so that the best sequence of the
correct operations can be selected. For example, dynamic decision equations need to be
built to evaluate computer processes and to determine the most advantageous way to
perform a given operation. Also needed are parameters identified and qualified for
computation, including: quantity to be produced, material and dimensions of part being
processed, peometrical configuration desired and tolerance specified.

What is the main issue of the discussion?

1) trend of automation in CALD/VCAM 2) information technology

3) lack of computer competency 4) producibility

How a sequence of operation can be optimized?

1) construction of proper databases of part information

2) solving dynamic decision equations

3) more research and development activities

4) using ideal models

Which parameters are irrelevant to operation planning?

1) geometrical and dimensional specifications 2) labor information

3) raw material and order size 4 part features

Which statement can be concluded from the text?

1) Massive part and process data should be collected for process selection regardless of its
application

2y CAD/CAM and process optimization are influenced by computer progress.

3) Dynamic decision models are already used for evaluation of computer processes.

4) Producibility stands for ideal operatiommethods and work standards.

| Clu:- the best choise (1), (2) ,(3) or (4) then mark it on your anser sheet. |

26-

28-

Manufacturing Processes, deals with issues which lead to a better -—-—-— of raw materials
and energy, integration of design and manufacturing ------——-- which are requiring the
invention of suitable new methods and techniques.

1} consumption-activities 2) use-regulations

3) utilization=activities 4) fabrication - rules

Decision making can be regarded as an outcome of mental & ---—-—- processes leading to
the selection of a course of action among several alternatives and provides the —--——— to
decide the optimized course of action to be taken.

1) hypothetical-cnvironment 2) regrinos-background

3) conventienal-opportunity 4) cognitive-ability

An operations researcher faced with a new problem is expected to determine which

techniques are most --——--—- given the nature of the system, the goals for improvement,
and on time and computing power.

1) appropriate-constraints 2) suitable-limitations

3) oppertunity-cxperiences 4) promising-results
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29- Systems analysis is the interdisciplinary part of -—--—--, dealing with an
nieraciing - ne systems i stem
Pactiuzeshbuly-conmr—*g

1) technology-systems Ejb-scienca-entities
3) competency-parts 4) skill-tools

30- Accrual adjustments, reconciling and correcting entries used to reco 1€
systems to the general ledger are not always immediately entered into other MIS
1) mathematical-expectations 2) ﬁnancial-s:fstenﬂ
3) operational-cases 4) physical-issues
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